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Note : Answer any ten questions.

1. (a) Give three ways in which a teacher can
organise her class for promoting co-operative
learning. Illustrate them using the context of
teaching class IV children operations on

fractions. 6

(b) What is a pattern ? Give an example with
justification of a mathematical pattern.
Design an outdoor activity to assess the
ability of a 6-year-old child to identify
patterns. 4

P.T.O.
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2. Which of the following are key features of a

constructivist model ? Explain the reason for

choosing, or not choosing, each : 10

(1) Children should be made to memorise
what they need to learn.

(11) Knowledge should be given to children in
small chunks, bit-by-bit.

(i11) We should give children the procedure to
solve problems by following certain fixed
steps, one-by-one, when they know how to
follow the steps, they can solve any
problem.

(1v) Expose children to different kinds of
problems, appropriate to their level, to
solve on their own.

(v) Collaboration between the children and the

teacher towards building their
understanding of concepts.

3. Give a detailed example each, from the context of

learning Mathematics, to justify the statements

given below : 10

@)

(i1)

Students’ spatial reasoning promotes their
problem-solving abilities.

Data can also be in non-numerical form.
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(i11) Corporal punishment can hamper learning.

(iv) Given proper support, all children can

)

(@)

(b)

(c)

(a)

learn some Mathematics.

Not every mathematical statement can be
proved.

List the five steps involved in solving a
mathematical problem, as suggested by
Mayer and Davis. Illustrate these steps

clearly while solving the problem below : 5

“In a school having 500 children, there are
65 children performing in a group dance and
55 children performing in a group song.
20 children are performing in both items.
How many children are performing in at

least one of these two items.”

Give two distinct assessment activities in
the context of learning of a variable. 3

How many one-fourth of a unit are there in
one-sixteenth of the unit ? Explain your
answer. 2

Give two misconceptions about chance that
children usually have. Give one example of
each. 4

P.T.O.
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Give two  distinct situations, with
justification, in the life of a rural child of
class II that would involve mathematical
thinking. 3
What does ‘moving from general to
particular’ mean ? Explain using an

example from spatial relations. 3

What do the terms ‘accommodation’,
‘assimilation’ and ‘elaboration’ of a scheme
mean ? Illustrate these processes in the

context of learning of symmetry. 6

Explain the relationship between the
ability to conserve and the ability to
reverse one’s thinking. Illustrate this
through an example pertaining to spatial
understanding. 4

Shivani claims that in the constructivist
model, the learning and assessment
processes cannot be separated. Do you agree
with her ? Give reasons and give examples
from the learning of decimal fractions, in

your answer. 4

Explain the processes involved 1n
scaffolding by a teacher. Also give an
example of this related to the learning of
interpretation of data by class V children. 6



(a)

(b)

(©

(a)

(b)
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Give an example of a wrong generalisation
that may be made by child of class IV, with

justification. 2

Give an example each, pertaining to a
Mathematics classroom, in support of the

following statements : 4

(1) Children’s errors are a reflection of

their learning process.

(1) A quiet classroom is not necessarily a

good classroom.

Create a motif each, for a non-regular

tessellation, which has : 4
(1) only reflection symmetry; and
(1) only rotational symmetry.

List three essential features of a good
worksheet. Give an example of tasks in such
a worksheet on developing an understanding
of the difference between the mean and

mode of a data set. 6

Why is it important for a child to learn the
ability to estimate ? Explain this using an
example related to operations on decimal
fractions. Also give an activity that, will
help a child develop her ability to estimate
quantity. 4

P.T.O.
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10. Consider the following solutions : 10
XY
@) __XY
X7Z7
XY
B) _XY
YZ

11.

Here X, Y, Z denote 3 distinct digits from O to 9,
and (A) and (B) are two distinct arithmetic
operations.

@)

(i)

(b)

(c)

What are the operations (A) and (B) ?
Why ?

Give, with reasons a possible choice for X,
Y, Z.

Give three essential features of a map. Also
illustrate them diagrammatically. 3

What does ‘taking another person’s
perspective’ mean ? On what basis did
Piaget claim that children in their initial
years are not able to undertake this
process ? 3

Differentiate between procedural
knowledge and conceptual knowledge.
Further, illusrate this difference in the
context of the area of a polygon. 4
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4
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10. Fr=fafaa g« o1 «fifse . 10

XY
(%) _XY
XZ7Z

XY
(@) XY

YZ
Tel X, Y,Z0 ¥ 9 dk s dF 3kl &l frefud
W T SR () R (W) [ IS
SR ST GiRad

() (%) 3R (@) F01 Gfwpad & 2 = 2
G) X, Y, Z % fau sro wfed genfad @e

KIS
11. (F)Tek TR h1 @ e fagoad sarEu)
g g 3= f99 & ®9 H <9z 3

(@) 'fedt W =afed & T9RT &1 TEAT A
F Hao € ? S 3 fRe euR W R
g foran fF a=a 3T URfye awi o 39
gfha @1 T R U ? 3

() FfHAHE T R STAURTHAS T & o
IR TARY| TP 3, TH <R I TGS
% %A & F<d H iRy 4

LMT-001



